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V. EVIRERBR

(1) RiZRXK

(BFTTEE)
( /mL)

EE SN

Merismopedia spp.

Phormidium tenue

Others

¥ OB 5

1024

256

154

190

22

64

70

100

38 6 184

Achnanthes  spp.

Amphora  spp.

Asterionella spp.

Aulacoseria spp.

Cocconels spp.

10

12

Cyclotella spp.

16

10

N

Cymbella spp.

38

22

Diatoma spp.

18

NSO IN BN

Diploneis spp.

Epithemia spp.

Fragilaria spp.

Gomphonema  spp.

Gyrosigma spp.

Melosira  spp.

18

10

Navicula spp.

336

126

56

22 2 64

Nitzschia acicularis

Nitzschia spp.

172

14

Pinnularia spp.

330

Rhoicosphenia spp.

Skeletonema potamos

Surirella spp.

Synedra acus

Synedra ulna

Synedra  spp.

Tabellaria spp.

" & 5

64

20

20

12

20

Actinastrum spp.

Ankistrodesmus spp.

Carteria spp.

Chlamydomonas  spp.

44

Closterium spp.

Coelastrum spp.

Cosmarium spp.

Cosmocladium spp.

Crucigenia spp.

Gloeocystis spp.

Mougeotia spp.

Oocystis spp.

Others

Pandorina spp.

Pediastrum spp.

Pleodorina spp.

Scenedesmus  spp.

14

D

Selenastrum spp.

~

Sphaerocystis spp.

Tetraspora  Spp.

9T &S

| Cryptomonas  spp.

1-9LF & 8|

Phacus spp.

Trachelomonas _spp.

B EEH

| Dinobryon spp.

HUNELY

OLN N

Z DM

i E

2}
X B =
’®RB R

3 % #

1092

280

176

208

36

70

90

102

40 6 200
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(2) KRILBEK

(

(BT ER)
/10mL)

EEH

Anabaena spp.

Others

E B H

39

Achnanthes spp.

Amphora spp.

Asterionella spp.

Aulacoseria spp.

Cocconeis spp.

Cyclotella spp.

Cymbella spp.

Diatoma spp.

Gomphonema spp.

Gyrosigma spp.

Melosira spp.

Navicula spp.

Neidium spp.

Nitzschia spp.

Nitzschia acicularis

Pinnularia spp.

Rhoicosphenia spp.

Synedra spp.

& & %

Ankistrodesmus spp.

Botryococcus spp.

Chlamydomonas spp.

Eudorona spp.

MNougeotia spp.

Oocystis spp.

Pandorina spp.

Scenedesmus spp.

Selenastrum spp.

Sphaerocystis spp.

a-JL B HE

Lepocinclis spp.

—_ ===

FEuglena spp.

Trachel omonas_spp.

N

R

A= (VG5 T

| Lz

. S S

Ceratium spp.

Peridinium spp.

£ 3
e

2

44
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